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PUEF % U e | PSR 22 2 21 2 31 2 2 2 5 2
PUEE bR B E SO | PR 10 5 5
Tt e | PR 35 5 10 10 5 5
IR A e TS 30 515 5 5 5 5
BESERFEAR ZAR%E | WE 20 5 5 5 5
BAEBAEE Ui | P 12 2 | 2 2 3 2 1
P gk | P 31 4 5 12 5 5
ik = I IFE) SO | PR 14 3 4 3 3 1
ITBUE B e | PR 30 10 8 5 5 | 2
AFLEN SO | PR 26 15 9 2
(EESS B~ IS 28 3 5 10 5 5
BiE (five) AMECO) | 4R 15 5 5 5
B HME (O | 4 9 4| 5
i AMECO) | 4R 15 5 B 5
RS HME GO | U4 10 5 5
ARy UMvE) SR | T 27 8 B 6 6 2
AR 2R | T 27 8 5 8 6
FEIR A 2k | T 20 8 6 6
FEARE UHE) SR | T 18 3 2 5 5 3
M AEIE BT 23k | TE 11 3 3 5
BRI 2Rk | T 16 3 3 5 5
ERiHE U Lk | P 2 2
NERE O k| P 2 2
IS FH (0 B 2 BT | DU 30 5 5 5 5 5 5
Guik T | g 10 5 5
5B L BT | DU 27 5 3 91 10
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LAY 2 BT | U4 34 51415 51 10 5
EX/ AW BT | U 40 10 515 10| 5 5
A AR BT | U4 30 10| 5 15
Ayl 2 BT | U 15 5 5 5
PR (HYE) BT | U4 15 10 5
N SCHI B 3k 2 B R BT | U 30 5 10 6 5 4
IR R EAR BT | U4 33 8 10 5 10
Mgz T BT | U4 20 10 | 10
EEHHE U 2R | A 12 5 5 2
BT ArASETD BT [ U4 28 5 10 5 8
PIER TRE GRAREEF | BT | UE 15 5 5 5
BRSSO K gy | e | o ; ; 1
SV e | AR 29 5 9 13 2
T EH | AR 30 5 51 15 5
bR 22 555 52 5 e i 20 5 5 5 5
Ve L | PR 38 5 3 12 5 5 5 3
S TAE BT | U 26 3 8 10 5
HLF 1 5% BT | IUE 25 5 5 51 10
I 5% 5 Rk | P 10 5 5
IR S TRk T | U4E 2 2
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